BIHEER 6 (MEE2E5)
SROTAE [ AR BLE A H T BRI
S £ 8H 9H

SRR AT IS
MLARMERER I &R

T F 4 it 45 TR T
R i R MR SR S A 1R ] L2 5 FH ARG P MT  dat e [E A bk S MAESREEIE 39, Om
T )55 TEARE (Bitk ) THRIEEH H TR T 5 O ps 4 AT PR S OME BT
B 52 13,270,000 H|Fioc4 8 H 8 H fi] (L1 U5 P RRBEEF T 152 4 9 — 1 PER KT Rt
R eR (Bt ) T T ORH T TR D]
13, 200, 000 |4 FuscsE 8 A G241 H

OFKOMTI7 L3 E LB
ARTEHET RS AFUAT U7z CERS1E1H 298 . Eak314FE4H 230, ST ESH29H) & ZARBE L ORI L 7o 72720, FRIRE K OEHS (BEF122454 A 30
Hifh o 851657%5) FI9LDATHUT IO L LTHERENE LT,

OF E ks DVERC W T2 BRI W T ONER
BIRE T THEBERENRE] o LBY




Sf go FE

AR 0 32 JEE RO SRR K F AR IR TR R R AR E
N o# M OH R T

\

it [ SR AR ER BT (e R A 4K)

T E AR BLR
] | LI AR AR B




S > < =
it £ s 4 N &
o] (L AR B
BHHENo. T Fii O 203 EAA 4 KA i =

1 L IOBET. 1 &b 3. 000 THE — 1, 758, 000 12. 04%
2 L IOBET. 2 &b 2. 000 THE — 4, 826, 000 33. 06%
3 +T 2.000 THE — 70, 000 0. 48%
4 BEAK G T 4. 000 THE — 250, 000 71%
5 T 2.000 THE — 225, 000 . 54%
HEt 7,129, 000 (BT HEE) 48. 84Y%

6 Mg THE Bk E 1. 000 = — 1, 164, 000

HEt 1, 164, 000
INEF 8, 293, 000 Gl LE%) 56. 81%

7 M THE e HEE 1. 000 = — 2,688, 000

IINEE 2, 688, 000
2 10, 981, 000 (@) 75. 23%

8 — iR P A 1. 000 = — 2, 289, 000

BB 2,289, 000
&3 13, 270, 000 (LC=AMh#E) 90. 91%

T E A 4 5R 10. 000 % — 1, 327, 000

B — 1, 327, 000
s 14, 597, 000 GEATER) 100. 00%




B &

No.1 FORET 1 54
(HE 1) (HuPN:BL4) (BB =) (G TTVASY)) (B : #1X No)

H=2.0m~4.0m [.=18.0m A=57.3m3 i (11 o] L AR AR P [ (L1 (5%)
Hi{HiNo. PR AR - i &= E22ia 1 C2
7001 o ) —hTay g L 57.300 | m2
6013 ok ) — | 3.200 | m3
2118 HYE AR BH=0.80m3#k x| 5 Al 41.000 | m3

At
e 3.000 T.ff

(FESE A Iy 1.00

57 5 A AR B G Al 1) 1.00




B &

No.2 JORET.2 54
6 35) (HiN: I 4) (EELEA ) (B A7 oy ) (B 1 X No)
o)) — NERE fi] L [ LR AN B [ 1 L1 (5%)
HffiNo. EAE k-2 B HAL 1 3
7002 o 7 —REHRE 155.400 | m3
2118 g IR BH=0.80m 3% %} i /5! 226.000 | m3
EE
s 2.000 T.fif
(M &) W LEARCEOMIE 1.00
57 5 A AR B G Al 1) 1.00




B &

No.3 + T
(F515%) (HuPN:BL4) (B S 55) G TTVASY)) (B : #1X No)
[ (L1 o] (L AR B [ L1 (5%)
Hi{HiNo. ZARS AR - i &= E22ia 1 C2
7023 156 A%+ H K6 [E 8 132.000 | m3
7005 SfEk%+ TEMEFEEEL1000m 25.000 [ m3
At

e 2.000 T.fi

(TESE A Iy 1.00

57 5 B A AR B G Al 1) 1.00




B &

No.4 HEZKJitig% T
(F515%) (HN:E4) (& BB, ) (HLAfh:7 2y 77) (Bt : # [ X No)
[if] |11 o] L AR AR P [ [ 11 (Z%)
EfhNo. EAN R - 2 & E22ia i £
7003 TV —TF 7 FEREAT X L 30-BL 7.000 ] m
7014 T —F 7 et T 3074 5.000 | m
7008 K B[ T #8 FRTE ¢ 4.0mm 0.5%1.2%2 048 H 13cm 2.000 | m
7020 FREFS 1E 2 i B 1 450 X 450 t=1.6mm 1.000 | & pr
AT
i 4.000 Tf&
M %) I LREICEDME 1.00
57 5 A AR B G Al 1) 1.00




B &

No.5 BT
(F 1) (N R 4) (B B4 55) EXTARY)) (B : #1X No)
[if] |11 o] (L AR B [ L1 (5%)
EfhNo. EA R - 2 & E22ia i £
7012 7)) — R T t=15cm 34.200 | m2
7018 A oA RC—-40 t=0.1m 54.000 | m2
AT
s 2.000 T.fif
T &) b LSMFEICEARE 1.00
57 5 A AR B G Al 1) 1.00




No.6  [APF T 554 - dhim it

B &

T: B8 L 5%
ALy By
AL B e bR
TRaM e E S ()

7,129,000  fHIESHAM EE (o)
P: 7 SRR 2 R 5

2 FH R 2 X )

7,129,000 %Oﬁﬁii&iﬁ*ﬁE{%ik_

O F AR E%

OIS

12.57
x1.30

16.34

x1.00

H{iNo.

G

AR - 37 22

(L OV Otk 4

HLY

i

=i

e

i

O

+

%
b

e

=

&

=9 A

f})ﬁ

i B

(ZDOMFETE)

b s C(FH AR YIS

Pk

16.34

%

B (A+Q)

(G

ST R

TR DMIE
7 5 AR PR (e A 1)






